NAME........................................................................ADM NO.............CLASS........

TERM TWO END TERM EXAM 2010
FORM TWO MATHEMATICS
TIME: 2 HRS

INSTRUCTIONS
Answer all the questions in the spaces provided.

1. Simplify	   5/6 of (41/3 – 35/6)					(4 mks)
5/12 x 3/25 + 15/9 ÷21/3














2. Given that the recurring decimal 6.34 is equivalent to a/b in its simplest form, where a and b are integers. Find the values of a and b.	(3 mks)
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3. Use tables of square roots and reciprocals of numbers to find the value of x if x =             1       +     3							(4 mks)
       15.36	1.302














4. Use logarithms tables to evaluate
a) 	456 x 398								(3mks)
               271










b)	 415.2 x 0.0761							(3 mks)
                 0.135








5. Simplify the following expressions and leave your answer in index form.

a) 22  x 43									(2 mks)







b) 7-3  x 84 x 72 x 8-3								(2 mks)









c) 										(2 mks)
	      27x3y9
	       Xby3







 
6. Factorize

a) 3px – py + 3q – qy							(2 mks)






b) Hence use the expression above to simplify
	       3px – py + 3qx – qy							(3 mks)
		      6x – 2y












7. Solve for x in the equation.						(3 mks)

X + 1   - x – 2 =  x
    3            4       6











8. If a= -4, b=-3, c=-2, d=3
Find the value of 2a2 + abc +cd						(3 mks)
		         ab2 – acd – c






9. Find the area of a triangle with sides 6cm, 10cm and 12cm. State your answer correct to 4 s.f.							(2 mks)











10.  Evaluate sin400 x cos800 using mathematical tables only.		(4 mks)
Tan43061
















11.  Find the gradients of the following parts.

i) (2, -4), (6, -2)								(1 mk)






ii) (4, 3), (-5, 6)								(1mk)






12.  Solve the simultaneous equation.					(3 mks)
3x – 2y = 7
5x  + y = 3









13.  The line which joins the points A(3, k) and B(-2, 5) is parallel to the line whose equation is 5y + 2x = 7. Find the value of K.		(3 mks)



















14.  Solve for x in the equation.						(3 mks)

2(3x - 2) x 8x = 4 (x +1)













15.  A conical container 40cm high holds 12 litres when 3/8 of milk. A similar container is 72cm high. Find;

a) Bare area of the smallest cone. (π = 3.142)			(3 mks)











b) Capacity of the larger one.						(3 mks)








16.  Two observers, A and B, 500m apart, observe a kite in the same vertical plane and from the same side of it. The angles of elevation of the kite are 300 and 200 respectively. Find the height of the kite, disregarding the height of the observer. 							(5 mks)


































17.   Three towns P, Q and R are such that Q is 150km from P on a bearing of 0430. The bearing of R from P is 1330 and the bearing of R from Q is 1600. Calculate the distance of R from P, Q from R and the bearing of P from R.

a) Represent the above information on a sketch diagram.	   (4 mks)



















b) Calculate the distance of R from P.					(4 mks)















c) Calculate the distance of Q from R.					(4 mks)


















d) Calculate the bearing of P from R.					(4 mks)











18.  A triangle whose vertices are P (2, 2), Q (4, 2) and R (4, 4) is mapped into a triangle when vertices are P’ (4, -2), Q’ (2, -4) and R’ (2, -4) under a rotation.

a) Draw the object and the image figure on the graph provided.    (3 mks)

[image: ]
b) Find the centre and angle of rotation indicating clearly your constructions.       (4 mks)









c) The images of parts (    , 4) and (-1, 2) under the same rotation.		(4 mks)



















d) Reflect the image D in both the x and the y axis. Write down the new image
     points respectively.
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